
Тема 7  Степень с целым показателем 

 

Умножение и деление 

степеней 

Вариант 7.1.1 

 

1)   573 212121  
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Умножение и деление 

степеней 

Вариант 7.1.2 

 

1)  5103 9:99  

2) 56 7:7:7  

3) 
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
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2
 

Умножение и деление 

степеней 

Вариант 7.1.3 

 

1)  9314 22:2  

2)   56 19:1919  

3) 


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7
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
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Умножение и деление 

степеней 

Вариант 7.1.4 

 

1) 67 14:14:14  

2)  100:10:10 1611  

3) 
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
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
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Знак степени 
 

Вариант 7.2.1 

 

1)   573 5:)5(:5  

2)  279 )3(:3:3  
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Знак степени 
 

Вариант 7.2.2 

 

1)   583 9)9(9  
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Знак степени 
 

Вариант 7.2.3 

 

1)   9314 2:2)2(  

2)  56 6)6(6  

3) 



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Знак степени 
 

Вариант 7.2.4 

 

1)   )7(:77 67  
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Различные действия 

со степенями 

Вариант 7.3.1 
 

1)    732 3:273 
 = 
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Различные действия со 

степенями 

Вариант 7.3.2 
 

1)   8322 3:39   = 
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Различные действия со 

степенями 

Вариант 7.3.3 
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Различные действия со 

степенями 

Вариант 7.3.4 
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Стандартный вид 

числа 

 

Вариант 7.4.1 

 

1)  73 102,1102  

2)  79 104103  

3) 







8

7

102
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4) 
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7
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7
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6) 







2

6

103

101,2
 

 

Стандартный вид 

числа 

 

Вариант 7.4.2 

 

1)  713 103105,2  

2)   79 104105,2  

3) 




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5
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Стандартный вид  

числа 

 

Вариант 7.4.3 

 

1)   83 106,1105  

2)   119 106105  

3) 



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Стандартный вид 

 числа 

 

Вариант 7.4.4 

 

1)   1713 107102  

2)   715 107103,1  
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